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ANNELIDS-Segmented Worms

Chapter 37-2 (pp733-736)

MULTIPLE CHOICE. Circle ALL that are TRUE. 

There may be MORE THAN ONE correct answer.

Hermaphrodites are organisms _____________________________________.


A. with a pseudocoelom


B. in which the blastopore becomes the mouth


C. that need 2 host animals to complete their lifecycle


D. that have both male and female reproductive organs

Which of the following is/are TRUE about earthworms?


A. Earthworms return nutrients to the soil by decomposing dead leaves and organic matter.


B.  Burrows made by earthworms bring oxygen to plant roots and soil microorganisms.


C. Earthworms use their clitellum to dig tunnels.


D. Earthworms loosen the soil making it easier for roots to grown and water to



seep in.

The digestive tract in an earthworm has ______ openings.



No              1                  2

Which of the following is/are TRUE about earthworm REPRODUCTION.


A. There are both male and female earthworms.


B. Only male earthworms have a clitellum.


C. Earthworms are hermaphrodites, but don’t fertilize their own eggs.


D. Earthworms have internal fertilization and indirect development.

Chitin is a tough carbohydrate found in earthworm _____________________________.


A. cocoons


B. cuticle


C. intestines


D. setae

Having a segmented body ____________________________________________


A. allows body parts to move independently of each other 


B. allows organisms to digest and move at the same time


C. provides duplicate “back up” parts in case of injury


D. allows organs to begin to specialize

Which of the following is/are TRUE about Earthworm RESPIRATION?


 A. Earthworms use nephridia for gas exchange.


 B. Earthworms need to stay moist to allow gases to diffuse through their skin.

 C. Earthworms have no specialized respiratory organs.
 D. Earthworms have lungs like we do for gas exchange.

MATCH THE WORM PART WITH ITS FUNCTION:


TYPHLOSOLE      CUTICLE       NEPHRIDIA      CLITELLUM       SETAE 



CEREBRAL GANGLIA              AORTIC ARCHES       

________________________________  Bristles in the ventral surface that provide traction

_________________________________  Ridge inside intestine that increases surface 







  area to absorb more nutrients.

_________________________________ Ring around the body that makes mucous for reproduction

_________________________________  Thin, non-cellular coating on the surface that







 prevents dehydration and provides protection

_________________________________  Excretory organs

_________________________________  Acts as earthworm’s “heart” to pump blood

__________________________________  Acts as the earthworm’s “brain”

CIRCLE T if the statement is TRUE.  CIRCLE F if the statement is FALSE.

Make corrections to change the underlined word into true statements.

T
F
Annelids (segmented worms) have an ACOELOM
T
F
Earthworms belong in the CLASS of annelids called Oligochaeta.

T
F
Most segmented worms are in the class Oligochaeta.

T
F
Earthworms have internal fertilization.

T
F
Seminal receptacles store urea.
T
F
Earthworms lay eggs in a cocoon made of mucous and tough carbohydrate called chitin.

T
F
Some leeches are carnivores and feed on snails, worms, and insect larvae instead of 


    “sucking blood”.


Give two examples of segmented worms.

________________________________

_______________________________
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